Ratio to CMS

10°

10?

10

[EEY

0.5

Central Jet P, [GeV]

7000 GeV pp Jets
[ I T | T I I I I | I I I I T |_4(L)
B . . =&
jet jet
n Jet pT (35< p. < 150, 3.2 < hfwdl <4.7, hcentrall < 2.8) _g
— = CMs Er
—  --{3-- Herwig 7.1.0 default N
[ —a— Pythia 8.170 default 1<
— a4 Sherpa 1.3.1 default -
L0 @
— : O
- —©
— H®
— 4
L 1M
= Jw
L 1O
(49)
L 1
X
= =K
— —c
| - O
- <
]
L —1©
)
_ |5
— - o
— ==
— | | | | | | | | [ 5 -
- T [ T T 1 1 [ T T T T T |:
— - 42
- I B3 i -
— O-. i - : ]
u TEf------- EF ? n
] N ' .
RS A __________________ : ]
i ’ ___________ : ]
| —0.5
1 " | " 1 1 1 1 " | " 1 1 1 1 " |
50 100 150



	Contents
	Page 1


